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How does Content Solution Architecture benefit businesses?
Response:

A. By providing a platform for social media marketing

B. By reducing physical storage needs through virtualization
C. By ensuring high availability and accessibility of content
D. By automating employee performance reviews

Answer: C

When deploying HCP, ensuring that the storage system is is critical for successful installation
and operation.
Response:

A. encrypted

B. fragmented
C. defragmented
D. scalable

Answer: D

Which protocols are supported by an HCP system for data management and access?
Response:

A.HTTP/HTTPS
B. SNMP

C.S3

D. SMTP

Answer: A,C
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Geo-distributed Erasure Coding requires a network latency between sites that is less than ms
for optimal performance.
Response:

A. 10
B. 20
C.50
D. 100

Answer: B

What are the benefits of using object storage services like HCP for data storage?
Response:

A. They can efficiently manage large volumes of unstructured data.
B. They require less metadata compared to file storage systems.

C. They offer scalability without significant performance degradation.
D. They enhance data security through automatic encryption.

Answer: A,C,D

Content indexing is part of which Content architecture element?
Response:

A. Data Layer

B. Presentation Layer
C. Application Layer
D. Storage Layer

Answer: C

In terms of HCP replication topologies, which aspects are critical for disaster recovery planning?
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Response:

A. The geographic distribution of nodes

B. The use of synchronous versus asynchronous replication
C. The choice of replication topology (e.g., ring, star)

D. The brand of hardware used in storage nodes

Answer: A,B,C

Before integrating a load balancer with HCP, what is an essential prerequisite?
Response:

A. Establishing SSH tunnels

B. Configuring virtual LANs (VLANS)

C. Ensuring health check endpoints are defined
D. Setting up direct internet access

Answer: C

Which of the following are advantages of using SAIN architecture over RAIN in HCP?
Response:

A. Higher data throughput
B. Enhanced data security

C. Better resource utilization
D. Lower hardware costs

Answer: A,C

To ensure comprehensive monitoring, what should be configured in an HCP system?
Response:

A. SNMP traps for real-time alerts

B. Periodic REST API queries to fetch system metrics
C. An external syslog server for log collection

D. A VPN tunnel for secure remote monitoring
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Answer: A,B,C
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